EARAROBEEIERT — 2 N— IBISH —F

20145F9A23H () 14mEH4H

m C3 #5%3®kL (xwlw | lmEmml - |5 @) o 8
[A&4£] 1% :200,000" ~ 2#%:36,000” ~ 337%&:18,000 ™ . 43&:10,000 57 :6,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- NEEF 34, -2-2- 9| - BEYE (EH)
ilsls| 56KL-% i 5 éio 1(3_4)4 2-2-2-1 | 39.9 2 <4+335) Ea%fb“}é?
L:ZZXH2R B:SLT T4 e ]
= : 4 g | B 1:35.1 4-4-3-3 | 40.4| — 1 475 | WEH (FEH)
2011|747 by F)—LA 56.0 ) @5 | ) 77— tEVar
L:xF1=Fdr—X B:O—-LLIsyF ZREANS
o 2oy s 5 | WWAKEX 1:35.1 7-7-5-4 | 40.1| — 3 439 | 2HES (ER)
3 2| ExTETa> 54.0 (75%) 1) | @ Tr-xtevar
L—F7a—- B:7ROTZRKISNL TFRES
Kht—E . 11— = WmissE (FakR)
4 4 Yoy ) k—2 4 3 s 17351:)2 1-1-1-2 | 40.8 5 (5:)58) Rl
R:TS5y k-9 BYNITIIITR 2 H%is
ST 5 | REEBRE 1:35.8 10-9-9-8 [40.5| — 4 a7 | DS ()
51718~ iy ) .0 (3 1/2) (-3) BERRT
L:Fao>8)L B:Y—-7)=J7 {EEkse]
. P .36, o 7_ . — IWA#zE (Fakk)
6lzl 7| 4722y i 3 A 1(326)1 8-8-7-6 | 40.8 8 (4_514) s
R:TFINHEY b BIVIFAI-—R SRR
o o JNEIE— . -3-3- - AR (EMA
7 6l NvE=T v i 3 s 1.(35.9 3-3-3-5 | 42.2 6 (3_924) (B
b4y BiRZ=Ty T BA KA
R ) . KIEE . S — IWR#=E (FkR)
8 3| YT RFA - £ 2l (12.317/.23) 5-5-6-7 | 42.3 9 (42; RS
LTAITLANRTF— BIIVE—2(1H— Y x -5
FEREATL . —6-7- . — EEFIGR (ER)
9l8l10 <1 T7YT 4 4 s 1(13/72)4 6-6-7-9 | 42.4 7 (igé) ﬁ%@“
RTANRTy Y2 BXXH/T7ITO— 799577 — 1L
3 TR :38. -9-10- . — iOEE (FEh)
wolslg kyad—O7Ooq 4 6 o 1(3480 9-9-10-10 | 42.7 10 (4_816) L
R:€r/0704 B:UNT SRS
® 1—F—@EBIERL
1T=7r= 4,5,6,1,3,10,2,7,9,8
2a=5F= 4,5,6,1,3,10,2,7,(8,9)
== 4,5,(1,6),2,3,(7,10),8,9
43—+ — 5,4,1,2,6,7,3,8,10,9
[ /N
B 5 300H 714K 1-5 150M e E 1-5 240 JEE 1-2-5 420M
B B 5 120M 2=l 250M B = 19 240M EE o=il=2 1,490M
1 100M 1-2 230M B H 5-1 410M
2 170

ABICOVWTRDTEEERROODE. TR LIV,




